Amplitud de Arcos (B)

Nombre: Fecha:

Calcule la amplitud angular de cada arco.

~ - ~ -

5.93 mi 279.92 cm
Radio = 2 mi Radio =99 cm
/ABC = /DEF =
846.66 mi 753.98 cm

Radio = 330 mi Radio =300 cm

/GH]J = /RST =
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Amplitud de Arcos (B) Respuestas

Nombre: Fecha:

Calcule la amplitud angular de cada arco.

~ - ~ -

5.93 mi 279.92 cm
Radio = 2 mi Radio =99 cm
— 593 . o /DEF = 279.92 % 360 = 162°
/ABC = o X 360 = 169.9 99 % x2
846.66 mi 753.98 cm

T ? W R
Radio = 330 mi Radio = 300 cm
LGHJ = 752225 x 360 = 147° /RST = 75898 360 — 144°
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